Yrov— o

Selo Licing

Made in Japan

TRIUMPH TRIDENT 660 ’21-
REAR SETS part# T-T660RS

Left-hand threaded -

Turn Right to loosen |
I [31

Raised side of Bearing Collar
20 (#15) should face out
towards Shift Pedal bearings,
with the flat side facing Shift
Base (#6).

10.
11.
12.
19 14.
15.
17.
19.
20.
23.
25.
26.

To side stand (fixed part)

satoracing.com

27.
28.
30.
31.
34.
35.

* TRIUMPH PARTS:
37.
41.

[L]-SIDE

12 1. (L) HEEL GUARD [HG-6L]

3. (L) STEP PLATE [T-T660SP-L]
5. SHIFT PEDAL (BK) [SPD-CP016]
6. SHIFT BASE (BK) [SB-T660]

7. SHIFT ROD (BK) [SRD-150B]

FOOT PEG [PEG]

FOOT PEG END CAP [ST-002]

PEDAL TIP (DELRIN) [ST-001D18]

PEG COLLAR 15 [PEGCLR-15]

BEARING COLLAR 20(BK) [PEGBGCLR-20B]
SOCKET HEAD M8 x 20mm [SBT-M820] x 2
SOCKET HEAD M8 x 30mm [SBT-M830] x 2
SOCKET HEAD M8 x45mm [SBT-M845]
BUTTON HEAD M6 x 10mm [BBT-M610] X 2
LOW SOCKET HEAD M6 x 20mm [LSBT-M620]
HEX HEAD M6 x 18mm [HBT-M618]

HEX HEAD M8 x 40mm [HBT-M840]
REVERSE STUD M6 [STUD-M6L]

JAM NUT M6 [INT-6]

REVERSE JAM NUT M6 [JNT-6L]

SPLIT WASHER M8 [sws-g]

MALE ROD END M6 [RDED-M8]

NUT
JOINT



